No Data O Moderately rapid Moderately well drained rent. Mat.: No Data ial: No Data Plain No Data Very gently sloped No Data Very gently sloped No Data Very Gently sloped No Data Solodic soil
0 Moderately rapid Moderately well drained rent. Mat.: No Data ial: No Data Plain No Data Very gently sloped No Data Very gently sloped No Data
Moderately rapid Moderately well drained rent. Mat.: No Data ial: No Data Plain No Data Very gently sloped No Data Very gently sloped No Data
Moderately well drained rent. Mat.: No Data ial: No Data Plain No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
rent. Mat.: No Data ial: No Data Plain No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
ial: No Data Plain No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
ial: No Data Plain No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
No Data Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
Very gently sloped No Data ping Unit: N/A cipal Profile Form: Dy2.33
No Data ping Unit: N/A cipal Profile Form: Dy2.33
cipal Profile Form: Dy2.33
cipal Profile Form: Dy2.33
cipal Profile Form: Dy2.33
cipal Profile Form: Dy2.33
t Soil Group: Solodic soil
cosa
ora, Eremophila mitchellii s includes - Casuarina cristata, Eucalyptus populnea, Acac
wn (7.5YR4/2-Dry); ; Clay loam; Weak grade of
grade of structure; Dry; Weak consistence; 0-
ubstrate material, coarse fragments; Few (2 - 10 Nodules; Field pH 7.5 (pH meter); Clear change to -
-
; Abrupt change to -
wy clay; Moderate grade of structure, 20-50 mm,
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry;
wy clay; Moderate grade of structure, 20-50 mm,
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to -
avy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - avy clay; Moderate grade of structure, 50-100
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - wy clay; Moderate grade of structure, 50-100 ery strong consistence; 0-2%, medium gravelly,
avy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - avy clay; Moderate grade of structure, 50-100
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - wy clay; Moderate grade of structure, 50-100 ery strong consistence; 0-2%, medium gravelly, rse fragments; Few (2 - 10 %),
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - wy clay; Moderate grade of structure, 50-100 ery strong consistence; 0-2%, medium gravelly, rse fragments; Few (2 - 10 %), ; Few (2 - 10 %), Calcareous, Fine (0 - 2 mm), ge to -
Avy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - avy clay; Moderate grade of structure, 50-100 ery strong consistence; 0-2%, medium gravelly, rse fragments; Few (2 - 10 %), ;; Few (2 - 10 %), Calcareous, Fine (0 - 2 mm), ge to - Moderate grade of structure, Lenticular; Smooth-
wy clay; Moderate grade of structure, 20-50 mm, mm, Angular blocky; Smooth-ped fabric; Dry; -20mm, subrounded, Substrate material, coarse is, Fine (0 - 2 mm), Nodules; Gradual change to - wy clay; Moderate grade of structure, 50-100 ery strong consistence; 0-2%, medium gravelly, rse fragments; Few (2 - 10 %), ; Few (2 - 10 %), Calcareous, Fine (0 - 2 mm), ge to -
Weak grade of structure, 10-20 mm, Angula consistence; 0-2%, medium gravelly, 6-20m ents; Common (10 - 20 %), Ferromanganife 3/1-Dry); ; Clay loam; Weak grade of structu icture; Dry; Firm consistence; 0-2%, mediur erial, coarse fragments; Few (2 - 10 %),

Project Code:	IBL IBL Site ID: B840 Observation ID: 1 CSIRO Division of Soils (QLD)
B23 0.44 - 0.6 m	Brown (10YR5/3-Moist); ; Medium heavy clay; Moderate grade of structure, Lenticular; Smooth- ped fabric; Dry; Very strong consistence; 2-10%, medium gravelly, 6-20mm, subrounded, Substrate material, coarse fragments; Few (2 - 10%), Ferromanganiferous, Fine (0 - 2 mm), Nodules; Few (2 - 10%), Calcareous, Medium (2 -6 mm), Nodules; Field pH 8.9 (pH meter); Gradual change to -
B24 0.6 - 0.9 m	Yellowish brown (10YR5/4-Moist); ; Medium heavy clay; Moderate grade of structure, Lenticular; Smooth-ped fabric; Dry; Very strong consistence; 2-10%, medium gravelly, 6-20mm, subrounded, Substrate material, coarse fragments; Few (2 - 10%), Ferromanganiferous, Fine (0 - 2 mm), Nodules; Few (2 - 10%), Calcareous, Fine (0 - 2 mm), Nodules; Field pH 8.5 (pH meter); Gradual change to -
B25 0.9 - 1.2 m	Pale brown (10YR6/3-Moist); ; Medium heavy clay; Moderate grade of structure, Lenticular; Smooth-ped fabric; Dry; Very strong consistence; Few (2 - 10 %), Ferromanganiferous, Fine (0 - 2 mm), Nodules; Few (2 - 10 %), Calcareous, Fine (0 - 2 mm), Nodules; Field pH 8.6 (pH meter); Gradual change to -
B26 1.2 - 1.5 m	Light brownish grey (10YR6/2-Moist); ; Medium clay; Moderate grade of structure, Lenticular; Smooth-ped fabric; Dry; Very strong consistence; Very few (0 - 2 %), Calcareous, Fine (0 - 2 mm), Nodules; Field pH 8.4 (pH meter); Gradual change to -
1.5 - 1.72 m	Light brownish grey (10YR6/2-Moist); ; Medium clay; Moderate grade of structure, 50-100 mm, Lenticular; Smooth-ped fabric; Very strong consistence; Gradual change to -
Morphological No	tes

Observation Notes LAYERS RENUMBERED 12/10/92

Site Notes

TARA

Project Name:	TBL		
Project Code:	TBL	Site ID:	B840
Agency Name:	CSIRO Div	ision of Soils (C	QLD)

Observation ID: 1

Laboratory Test Results:

Depth	рН	1:5 EC		nangeable	Cations K	E: Na	xchangeable	CEC	E	CEC	E	SP
m		dS/m	Ca I	Иg	ĸ	Cmol (+)	Acidity /kg				%	, D
0 - 0.04	8.2H	0.06B	20.4K	2.9	1.8	0.1	2.1D					
0.04 - 0.1	8.5H	0.04B	18.4K	2.5	0.9	<0.1	2.7D					
0.1 - 0.15	8.7H	0.06B	17.2K	5	0.7	0.2	4.1D					
0.15 - 0.2	8.8H	0.09B	16.9K	6.6	0.4	1.6	2.9D					
0.2 - 0.3	8.8H	0.17B										
0.44 - 0.6	8.8H	0.35B	10.7K	9.9	0.1	5	0.7D					
0.6 - 0.9	8.8H	0.37B	9.9K	10.4	0.2	5.6	<0.1D					
0.9 - 1.2	8.4H	0.37B	8.3K	10.9	0.3	6.6	1.5D					
1.5 - 1.72	4.8H	0.35B	6.8K	10	0.2	6.9	7D					
Depth	CaCO3	Organic	Avail.	Total	Total	Total	Bulk	Pa	article S	ize A	nalysis	
		C	Р	Р	Ν	K	Density	GV	CS	FS	Silt C	lay
m	%	%	mg/kg	%	%	%	Mg/m3			%		
0 0 0 1	4 000	0.574	4050	0.0575		700 0.04	D		040	00	0	07
0 - 0.04	1.630	-	105B	0.057F	-	72B 0.31			24C	33	8	27
0.04 - 0.1	0.340	-	27B	0.036F	-	44B 0.24			23C	35	8 7	31
0.1 - 0.15	0.360		11B	0.025F	-	04B 0.23			22C	31 27	-	37
0.15 - 0.2 0.2 - 0.3	4.49C 8.82C		10B 6B	0.023F 0.017F		78B 0.21 62B 0.17			20C 20C	27 25	8 7	39 38
0.2 - 0.3	2.19C		00	0.017F		26B 0.17			20C 20C	25 28	, 10	30 40
0.44 - 0.8 0.6 - 0.9	1.710			0.01F		20B 0.15 29B 0.14			20C 21C	28 29	10	40 38
0.8 - 0.9 0.9 - 1.2	0.46C			0.00F		29B 0.14 21B 0.13			21C 20C	29 27	10	30 43
1.5 - 1.72	0.400	,		0.008F		24B 0.13			20C 16C	25	10	43
1.5 1.72				0.0001	0.0	240 0.13			100	20	10	40
Depth	COLE		Grav	imetric/Vol	umetric \	Water Conte	ents		K sat		K unsat	
		Sat.	0.05 Bar	0.1 Bar	0.5 Bar	1 Bar		5 Bar				
m				g/g	ı- m3/m	13			mm/h		mm/h	

0 - 0.04 0.04 - 0.1 0.1 - 0.15 0.2 - 0.3 0.44 - 0.6 0.6 - 0.9 0.9 - 1.2 1.5 - 1.72

Project Name:	TBL		
Project Code:	TBL	Site ID:	B840
Agency Name:	CSIRO D	ivision of Soils (0	QLD)

Laboratory Analyses Completed for this profile

10A_NR 15_NR_CA 15_NR_H 15_NR_K 15_NR_MG 15_NR_NA 17A_NR 19B_NR 2A1 3_NR 4_NR 5_NR 6A1 7_NR 9A_NR 9G_BSES P10_NR_C P10_NR_CS P10_NR_S P10_NR_S P10_NR_S	Total element - S(%) - Not recorded Exch. basic cations (Ca++) - meq per 100g of soil - Not recorded Hydrogen Cation - meq per 100g of soil - Not recorded Exch. basic cations (K++) - meq per 100g of soil - Not recorded Exch. basic cations (Mg++) - meq per 100g of soil - Not recorded Exch. basic cations (Na++) - meq per 100g of soil - Not recorded Calcium Carbonate (CaCO3) - Not recorded Calcium Carbonate (CaCO3) - Not recorded Air-dry moisture content Electrical conductivity or soluble salts - Not recorded pH of soil - Not recorded Water soluble Chloride - Cl(%) - Not recordede Organic carbon - Walkley and Black Total nitrogen (%) - Not recorded Available P (mg/kg) - Acid P - 0.005M H2SO4 (BSES) Clay (%) - Not recorded Fine sand (%) - Not recorded
P10_NR_Z	Silt (%) - Not recorded

Observation ID: 1